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ECO8143T

M.A. FIRST SEMESTER (NEP) EXAMINATION, 2023-24

ECONOMICS

Mathematical Methods for Economics

Time Allowed : Three Hours

Maximum Marks : 80

PART-A/ Hkkx&v [Marks :16]

Answer all eight questions (Maximum 50 words each).

All questions carry equal marks.

lHkh vkB iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 50 'kCnksas ls vf/kd u gksA
 lHkh iz'uksa ds vad leku gSaA

PART-B/ Hkkx&c [Marks :40]

Answer all five questions (Maximum 250 words each).

selecting one from each unit. All questions carry equal marks.

izR;sd bdkbZ ls ,d iz'u pqurs gq,] dqy ik¡p iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj
250 'kCnksas ls vf/kd u gksA lHkh iz'uksa ds vad leku gSaA

PART-C/ Hkkx&l         [Marks :24]

Answer any two questions (Maximum 300 words each).

All questions carry equal marks.

fdUgha nks iz'uksa ds mRrj nhft,A izR;sd iz'u dk mRrj 300 'kCnksas ls vf/kd u gksA
lHkh iz'uksa ds vad leku gSaA
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PART-A/ Hkkx&v

1. (i) Define Function.

Qyu dks ifjHkkf"kr dhft,A

(ii) Give the Mathematical form of the function.

Qyu dk xf.krh; :i crkb;sA

(iii) What is the Integration?

lekdyu D;k gS\

(iv) Calculate the 
dx

dy
 from the following equation :

5 4 1   y x x x3 2

fuEu lehdj.k dk dx

dy
 fudkfy,A

5 4 1   y x x x3 2

(v) What is the input output model?

vkxr fuxZr ekWMy D;k gS\

(vi) Two rules for constructing a graph.

js[kk&fp= cukus ds nks fu;eA

(vii) Through which two facts can the function be determined?

Qyu dk fu/kkZj.k fdu nks rF;ksa ds tfj;s fd;k tk ldrk gS\

(viii) What are the two characteristics of linear programming?

js[kh; dk;ZØe dh nks fo'ks"krk,¡ D;k gSa\

PART-B/ Hkkx&c

UNIT-I / bdkbZ&I

2. If the demand and supply function are p = 20 - 3x2 and p = 2x2 then find the consumer's

surplus under perfect competition.

;fn ek¡x o iwfrZ Qyu Øe'k% p = 20 - 3x2  rFkk p = 2x2 gks rks fo'kq) izfr;ksfxrk ds vUrxZr

miHkksDrk dh cpr Kkr dhft,A



ECO8143T/210 Page 3 of 6

OR / vFkok

Prove that   and   express the elasticities of production relative to capital and

labour respectively.

fl) dhft, fd   rFkk   Øe'k% iw¡th rFkk Je ds lkis{k mRiknu dh ykspksa dks O;Dr djrs

gSaA

UNIT-II / bdkbZ&II

3. Find the general solution of the differential equation.

1
( 2)

2

dx x
y

dy y


  



vody lehdj.k 
1

( 2)
2

dx x
y

dy y


  

  dk O;kid gy Kkr dhft,A

OR/vFkok

Find the integral  
1


x

dx
x

3

2

lekdyu 
1


x

dx
x

3

2  Kkr dhft,A

UNIT-III / bdkbZ&III

4. Find out the output on the basis of input multipier (A) and find demand (F) given

below :

0.4 0.1

0.7 0.6

 
  
 

A
10

20

 
  
 

F

fuEufyf[kr buiqV xq.kkad (A) vkSj vfUre ek¡x (F) ds vk/kkj ij mRiknu fudkfy;s %

0.4 0.1

0.7 0.6

 
  
 

A
10

20

 
  
 

F

OR/vFkok

Explain, what is point linear method?

fcUnq js[kh; fof/k D;k gS\ le>kb;sA
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UNIT-IV / bdkbZ&IV

5. Explain the Leontefis dynamics Model.

fy;ksufrQ dk izkoSfxd ekWMy le>kb;sA

OR / vFkok

What is the Simon Hawkins Condition?

lkbeu gkfdal izfrcU/k D;k gS\

UNIT-V / bdkbZ&V

6. What is the limitation of Input-Output Analysis?

vkxr&fuxZr fo'ys"k.k dh lhek,¡ D;k gSa\

OR / vFkok

Make a technical coefficient table related to the following Input-Ouput table :

Industry 1 2 Final Demand Total Production

1 20 20 60 100

2 15 15 20 50

Labour 10 15 - -

fuEufyf[kr vkxr&fuxZr rkfydk ls lEcfU/kr izkoSfxd xq.kkad rkfydk cukb,A

m|ksx 1 2 vfUre ek¡x dqy mRiknu

1 20 20 60 100

2 15 15 20 50

Je 10 15 - -

PART-C/ Hkkx&l

7. Drive profit maximizing condition under monopoly is monopolistic cost and demand

function are given like this

C = 50 + 20x

P = 80 – 6x

find maximum profit and equilibrium output and price.
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,dkf/kdkjh cktkj esa ykHk dks vf/kdre djus dh 'krZ Kkr dhft,A

;fn ,dkf/kdkjh ds ykxr vkSj ek¡x Qyu bl izdkj gSa %

C = 50 + 20x

P = 80 – 6x

blls vf/kdre ykHk rFkk lkE; mRiknu ,oa lkE;dher Kkr dhft,A

8. Find the following Interals :

(i)
1


x

dx
x

3

2

(ii)  2
3 1 x dx

(iii)
2
3

1
2   

  x e dx
x

x

fuEufyf[kr lekdyu dks Kkr dhft, %

(i)
1


x

dx
x

3

2

(ii)  2
3 1 x dx

(iii)
2
3

1
2   

  x e dx
x

x

9. If the following is the dynamic coefficient table of a hypothetical economy

consisting of three Industries, than find the quantities of total products :

Industry 1 2 3 Final Demand

1 .4 .3 .2 50

2 .2 .5 .1 20

3 .1 .2 .6 10

Labour .4 .3 1 -

,d dfYir vFkZO;oLFkk] ftlesa rhu m|ksx gSa] dh izkoSfxd xq.kkad rkfydk fuEufyf[kr gS rks dqy

mRiknksa dh ek=kvksa dks Kkr dhft, %
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m|ksx 1 2 3 vfUre ek¡x

1 .4 .3 .2 50

2 .2 .5 .1 20

3 .1 .2 .6 10

Je .4 .3 1 -

10. Minimizes 2 6 c x x1 2

Subject to (1)    2 3 ... (i)

2 8 8 ... (ii)

 
 

x x

x x
1 2

1 2

      (2)     0 0  x x1 2

NksVk djuk 2 6 c x x1 2

dk fo"k; gS   (1)      2 3 ... (i)

2 8 8 ... (ii)

 

 

x x

x x
1 2

1 2

          (2)     0 0  x x1 2

----- × -----


